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SECTION—A [=—=1%/ F— 41 / S —aTerm [&—am

1. For each question given below, four answers are given. Out of four,
only one answer is correct. Select the correct answer -

maﬁﬁrmmﬁ%ﬁ%ﬁmﬁm-mﬁﬁmfﬁamﬁmmﬁ‘%ﬂl
w5 T A TEed
ﬂmﬁﬁmmmmmﬁﬂmmlmﬁammﬂmﬁ
TE | s ol o e )
mﬁﬁﬁqaﬁmﬁﬁ‘ﬁ%ﬁmmmmﬂaﬁwﬂqﬂa’ﬁ
T | 1 e wwe fig

A o Ty v e & fom ww e R e ) 9 A @ S v am oo 1)
wEl I = g

(@) A solution turns red litmus blue. Tts pH is likely to be 1
<61 592 72 Bbaes Te 903 1 9w pH T9 o
3fs &9 =7 Fbarice Tm 94 98 | @3 pH =S oE
i ieTeE it fererE S e | 3 pH v
% Taer = foremm =0 fien = 3 2 | o pH womEe: = 27

(i1 (i) 4

(iii) 5 {iv} 10

(b) An element reacts with oxygen to give a compound with a
high melting point. This compound is also soluble in water.

The element is likely to be

a1 (e WiETEw whe e SR W e e B 9
CTSIEDT 191G FANR | FRERHE (e T

e (TF WhErEee Aoy Blem S T aEaes Ge BaeE E
cTsIG weet waer | e Gl e

T TEgEE SAfFEEE e wEe e e B e
wimfer | W dam e | REEE s g

FI§ T AT T A AalE w9 e 9 O AR A
w1 &1 78 T we 8 e ¥ an 7 Ao 9w gem ar
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(i} ealeium (it} carbon
T w A
TP T
e A
iztm FA
(iii) =ilicon (iv) iron
fEferm LIELD
P A
fafer T
fafer e
(¢} Using Mendeleev’s Periodic Table the formula predicted for
the oxide of element 'K is 1
crsfier oige oEm T9Ee Bk P e K e TEEon
ALFE LA
Frefres s whm TR @ I K iR wEEshy
HAELFE =LA
Rl seinh wiher T REm K Rgmi s
A ST
2 ) wEd wRol T I e aEe i K % siEEs
HHIE
(1) KOg (ii} Kq0
(iii) KyOq (iv) KoOsg
(d) Sphygmomanometer is an instrument which is used to
measure the _ of a man. 1

s TR AR T3, T T A 19 T
*EIEIAINGR 9 2ea T8 @ Jee R W0 TAER

T
T AR TdmE Tee wEE aERR T A AT
HTETATE =T |
ErmiETE U e 9 2, T 3w 9 & &1 = %
TFm =
(i) blood pressure (ii) Og level in the blood
TG (%S Og-4 Tl
TEH e Og-a T
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U TR im0, 3'm
Tard 3 UE + T
firr) blood sugar level fiv) level of urea in the blood
IE TR '@ & gafE =@
TF 8 W0 & = T W i 3
(e/ The growth inhibiting hormone found to be present in
plants is 1
ez v IR ERN T B
Ham o sEER wEE T 5:%
TTEIA AREATEE T8 ETEWATY EH =
it § mefim -t e 2
(i) auxin {ii) gibberellin
=E= AT
wfFm Toamtfem
i Taaiferm
(iit) eytokinin (iv) abscisic acid
FIEG " FE, GBS JfbE
AR oD TR i
HIEZFIE E}ﬁ T Ui

() When two pea plants, one with yellow and round seeds and
the other with green and wrinkled seceds are crossed, the
plants of the Fy generation will be cbtained in the ratic of 1
TEH TEA W CEA e T e weEe cieE we
CEBFA] T %41 oo 353 W e wEe e AR whE o,
c=fem % = R B e o T Bht 2'e
a6 T G3% TEE TE T T w0 RE G gl T
T I I WA e WY T IR BN W v Bl ww
SR (8 WS e WA o =
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i T AR ZE AR A W [ W WA A gy - A
T HA TE TR TR S SR S S A S
EEHIH FHATEATE AFETS =

afz mer % B Wi, vF 9 ¥ e i aen am e gt e gl
A=l Aren, w1 HEw A e, @ 39E Fy il % 9w w0 s

aull
i)1:1 (i) 3:1
(i) 9:3:83:1 (4 71 T Rk ML B |

(g} Where should an object be placed in front of a convex lens to
get a real image of the size of the object? 1
FEAE A HWEE e afefty ot 2 WWEh TeN (TR
AT @F TS T FER 7

TGS THF WRTCEY e Crs WE T TeE o ST
CFT= A 2190s 2041 7
i war vt Rt = amfEm S g SEE e gEe 9
AR T
Tof o % wwm sTw (Wge) o =atae wfofas W e % fon e
T INE T o WA TRl T S ey
(i) At infinity

HATE

I

et i SHEE

HAA W
(ii} At the principal focus of the lens

(T 1 TS

R Y0 (R

T MER FEEAE

T % Y HIEE T
(iii} At twice of the focal length

s ThdR e e

CFTFP T R T

T FE THYREMH TEH TRYEEE

s il = Ee gl W
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(i) Between the optical center of the lens and its principal
focus
A WERLEE WE T4 F R 1w
(T RS 7 T (PR W
et T = TR i R
T T I dE A T B & A

(k) The formation of rainbow 1
A
T,
Eites
=
(i) occurs in the same direction as the Sun
74 7 e v
s <3 i e
we T e A
w1 fam & R
(ii) oceurs in the opposite direction as the Sun
i e frre i
oy Feffrs i o0
T e Femam s
i 61 fawlia e o @

{iit) does not depend on the direction of the Sun
74 e @ P67 A
e e Yo Fea wa A
A T wrEE aEm
i i fem w vkt =

fiv} None of the above
a9R «ff|e T
TR e W
T S T2
T 1 1 i T
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(i) The SI unit of electric charge is 1
e, = s, wiE g 2'H
e =T an, WiE 93 WA
Hifeera Wi wE, ST, AR
T, 4 1 T, AR, 9§

(i) coulomb (i) wvolt

3o i
FEY (AT
T Hre
ETIL qeE

(i) watt (v} joule
4 Ly
& Ly
T gl
12 e

(i) Which one of the following is an example of non-conventional

source of energy? 1

WHA (LB WeEeeE)srs e T 0

Siten carl TeEeEere wfE T o

meraly sE arfeE 2t v G

Fo= & & FA-T - e -wE o Iae 27

{1} Fossil fuels {ti) Thermal power plants

Srarmere T wrefsias =i s
ST W : wefEfas «fe T
AT S Terganfy i oitfi
Sard) 45 Zafg 7w o

(tii) Hydropower plants {iv) Solar energy
TS e
weifs am s
TR e T TfE
ECEIER e L
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SECTION—B /4 —=11/4—=m1/m—amem fa—am

2. Write the balanced equation for the following chemical reaction : 1
TR AT IR A wees HaeAd B
Aieen A fafrmis = e wER @
e TSR i e Ty wEeE
A3 A TR T whifen % R wgfm wiem R -
Hydrogen + Chlerine — Hydrogen chloride
WEETE + 2 — T s

-
TRLETEA + QAR — EEEA RS %ﬁ
TR + T — T T
TSI + T — TR T
3. Give an example of a metal which is a poor conductor of heat. 1
uTg <Om T fiw e 9w eofaiE

SF0 4TEA TR W1s (6 Onem o R
uTg HeEH R A agan R e
T U 1 I i S Fen i g #
4. Draw the structure for the compound butanone. 1
RS (MswhrA s1oa =i |
o (Rinfba aem =
Tz Wt e snfa)
wdarA A = e fabm i
3. What is genetic drift? 1
&5 =fuprs 2
forcafoe T |0 oL
Torfit. semamamn @7 %ﬁ
T 19T T &7
Or | %31/ gy | van | stean
What is variation? 1
fftae &0
fafena 17

T 11
Ty =1 &7
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¢, What do you mean by least distanee of distinet vision? 1
=of% qfed S[FTeE A% WA 7
=53 iEn eren Yy I 97
T Furs waiE ST At
woe g it e g & W i 7

7. What is a balanced chemical equation? Why should chemical
equations be balanced? b

wfers apml A 77 1 apmte Ay B ek sk e
sty T TR $ o P AT o T v W
HOEE  OEEE WERYEE W7 TEEAN OHRYERRE A ey
AT A1

e TEEtE Tl w37 TeEEE AR S agiem s e
HIEFrE 87

Explain why doez an aqueous solution of an acid conduct
electricity. 2
AfET GOR wAE BE 3 Fge ofFEma Fa, Trm |

G TETEE T ER & e «FEE =, T S

el Banft nieemman wE difE 3 Al

¥ 1 wei Taern w10 g =0 wee s B, s i)

With the help of suitable diagrams, describe the food obtaining
process of amoeba.

T o vrawe wfiTm O R afivm g« )

b fora A =ntREE A e oty a3

T wEmiR e vt e s stead) 39T

e T 6 w1 sl § e e w0 ) when ki

Or | 7123/ |9/ v | steram

What are the biological catalysts? What is their function? 1+1=2
(5 SRR 7 7 e o R

o iaai o aufm e B

et e w7 Swnf T

A TORF TR I H R
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10. Name the respiratory pigment present in our blood and state its
function. 1+1=2

WEE crwE oF e Bm TR B ue v o 1 =1

HEIFA AL 49 TS WS L) 9 T S ATE S0 |

=i dars wremn iR geh fm am 3 e o'

T TR (196) B IvfRm me aveE o Rt wE ses e W e S
Or | w131/ =@/ var] seEr

What is ATP? Why it is known as the energy currency for most
cellular processes? 1+1=2

ATP % 7 W0 cva afim olim sftsum = fivma wen o 0
ATP #17 aft om afEs @im afirom «<fogm o «ffs @
ATPa =17 s fomfiaf Taifi fafnit e ofs awmg el
Tafirgmre = wE17
ATP =m 87 s =ifichm vl & foe o8 st @ =3 = =7 27

11. With a neat labelled diagram, describe a nerve cell. 141=2
b1 #fFsE e B Awrs snen Gbr ada 3
%% ~firem Bfrs o oo <3 s 3t e
A T fefFaam st aemee Erimtafa S )
TS TIE TTwa (o = gemar § a9 i = e fifem)

Or | 7331 |9t/ =T/ stean

Describe a reflex arc. 2

219 ¥ A0 2o T
wfs 28 g 3 e

T WEEAT A TR A==y 8y
pinEails e e ue il

12. How does a unisexual flower differ from a bisexual flower? Give
one example each for both the types. 1+1=2

A oo T TER el @ ERee ais
=R o

T T Frenn TEAS T (T T R oS 3 9 T me |
HamaET fEEmen e - e et aeeiE Seen fRE
it 7o Ay vElerfl gw 3 = aem 8 9 % R on-wE sEmm S
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Or [ ME=1] 5= ] vay [ saaEr

Give the names of two agents that help in cross-pollination.
How do a seed and a fruit develop? 1+1=2

e s WS e A e P e P gb T s ah v
faFr Qe b 7

TR @IS GNTS AR T FEE goa AW e | 9wl Tm e gab
e fr Frewa 9 7

AR FEAT THEE SEAE B WA wEEE 1 R W S s s
Tersrref AT wE SR

qreraret 3 wer A1 A & A fafan ) v fm sl o we = e e
el

13. Find the focal length of a convex mirror whose radius of curvature

is 30 cm.

30 cm STH TPNHR Ta= TRA Qo e TR Fefn

30 cm S8 AREHR G0 TEA wim G A e

30 cm EE WEETH] WE AE T R w0 aeaEE B

W T = 6w g m i, faef wmm-Ben 30 em B

14. How much work is done in moving a charge of 5 C across two

points having a potential difference of 10 V7

10 V =2 ¢z 951 @ 9neid 5 C wiem e 2ede s o 3fm
R 7

10 V =1 ceraa 56 Braa 99 g 5 C =W ofde sa0s 72 91 390
AT

10 V 4y wrm o9m And Wi TEeE 5 C ' 9iEe SiEl '
HEATIA

10 V Fvarm % 9 el $ 4 5 C wdm =) A R 3 e e
i 37

B21-G5/31B [ Contd.



( 12 )

15. Why do two magnetic lines of force not intersect each other? 2

wEm (e Tt o o TR A 7

AL
70 (Fe THE G erE T 0 A7 "ﬁ
&t e wife grdten W ARl TR T ai

2 e deta, TE-gE %) Shvek w6

16. Give any two ways in which biodegradable substances would affect

the environment. 2

B i o AT 2eE (FE o[ W0 e R
& Falieae e AR 9oF (P0G b AEEeaE REe e |
Termanfy T fomeen sreeEE TEm et B af T T )

1 T8 91 w0 gany T S Ffimots e i 5 oenkE )

17. State the different trophic levels of a food chain with examples. 2
8] Bz ]

61 =1 e Rfen (s T e e e E%

= 1 e e e T Rew S e

fat)

wren Faen % ffim At @ 9 T ot e
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18. A metal compound A reacts with dilute hydrochloric acid to
produce a gas which extinguishes a burning candle. Identify the
gas produced. If calcium chloride is one of the products formed in
the above reaction, then name the metal compound A and write the
balanced chemical equation for the reaction. 3

a5 4TEE CAis A T TR 'R AT ufie G R SR ab om Beem 3,
fl ¢epbie @ S 9w 99 qYEn | O Beem cma omelh Bre S
Pfirmbe Berm o oW 09 G #'9EE 2 yrew Jle A-9 A
foren =% RFMER weFe IFm AR B

«=fe g (Mo A 7] FEEETT e e R wm 9w Teem
T . g7l TR cafers Fifem om | Teem mem el e S
ffiFnibee Beem sem oFit (09 TEPWE EEEE e 4EE 9 A-99 FTH
e v, AfdEmien e wpimle AR @

oI G A 3 e TS T i o e see TeE e seiEr
T AT FEE wEE T AN et wei | amfem fhen ot Besnagas
Tt AR G e ae ge srEEen g wE A B og e s
T WA T T T

=i ug N A T BEeEe o & my Al s o oaem sl
8, w1 W wWaEd w g w0 R sm sew e oweEm Fif) o9k o
At 1§ 3em Al 4 4 us SREw s ¥, @ g e A W= am
AR 741 3 AEE 3 o aegie et wde fifa)

Or [ =121 { 5971/ =7/ Seram

What is acid rain? How does it affect our aquatic life? 1+2=3

afee 999 37 2 wAE wom B4 (aquatic life)d @@ @R T=@
R wa

wiPre i #0 «f wEE e S Ten $ene oer e w1
wfirE s W7 o A 2R R e aE e e

Wl 79w B uR et W HeoiEl 6 e ow 3R oo
EAR i
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19. If about 3 mL of sodium sulphate solution 1s mixed with Elh-ﬂ'l:-lt
9 mL of barium chleride solution, a white insoluble substance is

produced.
o 3 mL A 575N U B @6 3 mL 99 @RTH &9 5 G

ol 70, C50% 51 3 WA T ELem =W |

T 3 ml, AR oI WEEns <3 7¥ 3 mL ERTH  GFRiEE TER
e fafire =m, s i AW WER Sy e

firg 8 mL B | 'Term e TaeE 5FE 3 mL W Afem s
e TR WA, e A TR et gar b

o T 3 ml BT TR F feme @ e 3 mL Sfem e %
Freraa % Ty e F0 &, 9 O Wik SgeeRie gard 30 g g

(@) Write the chemical equation of the above reaction. 1
o REFTR Tl S
ey Rfeaia wrmies ARl e |
Tt Rt e EEeEE
Ty wfufrn & fom met wimm fafa)

(b) What is the white insocluble substance produced in the above
reaction? 1
oA FAIEhTe Teem IR 39 W o [ 7
oraa RRGre Sevm 2o  Er e 9
Ty FrreereeE SmisEm g ity garm me
Tt ARG A9 T e e W e

(e} 'Te which type of chemical reaction does it belong? 1
<% ffrms 5 aoma emiee ffvm wmss?
% ATl @F aor e RieTm wEsie ?
% e m tamE et
e wiufem fa wen i et affen F =i e 87

Or / 7330/ %1/ var| aean

What are oxidation and reduction reactions? Explain with examples. 3

TR OF FEEe IR &0 S tre 3w
R <R3 FEma At 9 S 3R e
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AT W TR s me AR e
9 3 s it w87 sse whka = fif

20. What was the basis of arrangement of elements in Mendeleev's
Periodic Table? Besides gallium, what other elements have since
been discovered that were left by Mendeleev in his Periodic Table?

1+2=3
cafee sHEeE wlEE (Teraes & s e t2fem 2 ofmme tofie

- (P26 GNP A (TECAES WREE e o oefits ceda
wiferTs o A1y to ez o

Frsfcen owigs wEmre deaskre & R = wofisr e
IS A (FF (TSl SR 260 o2 (S Om witRis T
Teafeer 2

quifraf srumht wiftemre qRgwwcd o TeE B e
UEEAE WEEA? e i R R wy Rl e
TRgEEE REEf Rei dmdfaven Rl wifemee s i
LIk

el ft amad moht # wel W fr s v sratiE fen o @ iy
%Mﬁﬁﬁﬁ?-ﬂ?ﬁﬂﬁﬁwwtﬁﬂﬁmmﬁmmﬂﬁ@
fom an?

Or [ =133t | ss=t/ war | srerEn
What is the need to classify the elements? Mention the limitations
of Newlands' law of octaves. 1+2=3

AT CARSE R wmEame R fikeem wie T
SRR Brad 4 |

Amgln cfiteem T ameamer i HEEs - W8T
Srmeaf Sy 7o |

Wmmm?wmmﬁmm

I TE |

T % A 6w a2 den s fag 6 dwsit 5
fafiam |
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21, In the following table, some groups of three elements arranged
downwards in order of increasing atomic masses are given. Find

out which of these groups form Dobereiner triads. 3
hmupd Atomie |Group B \Afomic |Group C|Atomic
Mass Mass Mass
N 140 | Ca 401 | Cl 355
41-0 Sr 876 Br 799
As | 749 Ba 137-3 I 1269
A EEEEE AR TR T e wela v, OREh e
=3 o B e (TR @EREh oIl ©ErEEEe s s
A AR
¢TBA AR B | AR | ont © | AR
= 5 T | EXE

N 140 Ca 401 Cl 355 EI‘EI
P a1:0 Sr 876 Br 79-9
As 749 Ba 137-3 1 1269

fren TfEetrs fet cRte e o crew War el wEmeES
=z Titemm Favfice e | ofiefe wa emsf EREE s
oo hchuleae il

oA | e B | amamae | et C | i)
7 =7 ==
N 140 Ca 401 Cl 355
P 310 | 8 | 876 | Br | 799
As 749 | Ba | 1373 1 | 1269 |

Tl WA TR i e el e e A
nfegarfy A g ST SR R A T 3 AR e
amfaerE B Hﬁﬁ
FATTA |t |gee B |yErmf (eren C | TR | 6

N 140 | Ca 40-1 Cl 356
P 31-0 Sr 876 Br 799
As 749 | Ba | 1373 1 | 1269
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fire mrofi & 9 T ¥ o EEE E g FEME SR e e
# 3 sEtem o w2 9 T B o3 U S E-w wp s s

ECinid
TFA Ty | gYEB | wEg | ¥ C | WETY
T T TSI
N 14-0 Ca 40-1 Cl 355
F 31-0 Sr 87-6 Br 79-9
As 749 | Ba | 1373 I | 1269

22 Which is the main thinking part of the brain? How can any smell
be detected? 1+2=3

1fE 9 fE-ueE u @ ? i ouA orm @ e i
*fa1 A 7

Tfersa 70 fom-orReR S @F 7 O G s FEr ey am e
eI TER TR ST W SRR ST AE WEEE e

afess 1 HE-H WF TEE: TEH W eaniE e w0 owm e e el
T T T S AT BT

Or | 51277/ 5o=1/ wan/ syera

How does leaf movement of the sensitive plants differ from the
shoot movement towards light? 3

Trgmm wgaTE BT oA TR RN WE el R W
CTEA e sifE 4] ARGAeE e o1 &7

FCAFD AT S0 ASH beca ~faubal a9 FRed @ sy
AR Fee ofE T« s e H o

wrEit e g T e wE SR e

gegs wredt = o = i, wwE R i wie ol @ e w7
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23. What is a placenta? What functions does it perform? 1+2=3
Ty i R i e W TR
e e B e e o e e i e T
T A T W1E A W W A AEgEi?
S T 27 9 - W w W w8l

Or | 7%/ 547/ var/ staan
What is germination? From which part of the seed do the future
shoot and root develop? Which part of it stores food? 14141=3

w5 57 T R @R UeR o SRees T W s Fen R
07 R & wedE o Aew 3R T

wgad F7 <2 Trew @R w9 T SETeY e R SRITE [T
fEPE W v @ 09 ¥ A T A0 T

T S W7 AW AERE T geteE = g a) @ iR e
AT T4 AR AEE T S e

s w7 37 i & frm am @ e Wie o el o3 Bele g Rt e e
e v & @ de a7

24, How many pairs of sex chromosomes are contained by the human
beings? How is the sex of an offspring determined in human?

1+2=3
s (FAAA (O FEW T TWA 7 T OvaS IR Rl @
e 7= = 7
T T (ETE (O FACEN 9o 9047 T OFE TR B e
e T = e
TR WEEE W FE W 87 TR deEE e e wE
T A
nrEl # e fom ome = gm B 87 T i = fom-Feion 8 g R

Or | &1/ 51 g | sveran

What are acquired and mmherited traits? Explain. 3
HEe W AT SRR 7 7m0
wfHT g3 AR EE SR F 7 A 7 )

MR 30 PR Sl Sams M7 i)
i e 3R ST e wn En 27 =men $if)
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25. What do you mean by an electric circuit? Draw an electric circuit
comprising of a cell, an electric bulb, an ammeter and a plug key.

142=3

Cagfes 74 AnA @7 o, [pfee 9, o tE e s wfEm o
b1 {agfes TN fBa = 40 |

s T80 e M @ 7 @, TPREE AW, WEEDE @ W wEeT
ufs tApfes 74am fba = e |

MfEm wheun feeen w1 g S, WifEm T, dien am W
A T R G- aEmi anfiE)

foreg vy =1 e and 27 o e, U forg e, O Rffer e e e i
% fera =7 s Toregg whorw 1 s1it@ =R

Or | =31/ e/ T | 3yeran
State Ohm's law. Draw V-I graph for nichrome wire. 1+2=3
a7 B! ot | e SR VT T e 4
&7~ s ] | A A V-1 b S ) |
st =t fom ) Feem anfy VoI d-mami anfia)

a7 T s A g an % R VT o see)

26. Two circular coils A and B are placed close to each other. If the

current in the coil A is changed, will some current be induced in
the coil B? Give reasons. 1+2=3

O PR P98 A WEF B AR o6a1- <6l a9 U | A $56E T
4R 2'A B Tufie e iR v'am 7 FrRe e )

76 Toem TR A @ B FrE FEAIE A9 TAE | A RS AR
s 2e B $ofive 537z iHE e 97 IR 9|

T el e A W B mEenE iy il afies 96 A EEa
T BT Sk B taeE 99 T SYETE T dee 8l

3 T Fefedl A 791 B vw-gat ¥ P fEn §) oR Sl A #§ frgam
 é wierdt =, 1w grecht B 3 i Rrgaaw S geft? o R
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Or [ W23/ S/ van | seE
An electron enters a magnetic field at right angles to it as shown in
the figure below. What will be the direction of force acting on the
electron? Justify your answer. 1+2=3
ol WEEA O $IS CPES S (FYSUR WA TR o FR
YN e v v 7w i 5 2y 7 Soaw vunder fefe 90

a7 WA @S FIT o9 LD Tl S SEsRd R FOAE |
Amgwion Ten e T qone wfege B wa r T gy fre )

wETiEE RErm ok A e deE geEs mieaE i g
TeEZAT HTETE ST wemE fe Emm ariEt e g B

o7 | =9l sgan =6 o ol gadm 4@ § 69 & A wEn
F B | FeEgA W AHITE = i I v eeft? 1w ae o qemdn sann)

ESRE
TS
Magnetic field / F9% (%3 /

FIT () G Al /
g &

L

k

W

—»

L
-

Electron / 5#EA/ T4 / fo9ga / feiagiq i

s

27. A person cannot see nearby objects distinetly but can see distant
objects clearly. What could be the defect the person is suffering
from? Draw a ray diagram correcting the defect. 1+2=3

GE TR S TEAR PRl (7 WP R A9 950 T (7 4T |
T [ ¥ 279 o 7 Remabn s ot 37 B g w9

aFE T I G e o o W R o fafe em
CEEE o | T R we e Renbs womm o 1R e
R WA |
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T WA Wfa gEERe T g, e TEEE fErsed e @l
T JHTEE W OwET BT W UEE) S OEE WEEAE TS '
|

wF =t e A aegelt = geve o 3w ww, v T A e W g
¥ v | W = B afe-dm § difm ¥ T O W vl e g us
o Tt W)

Or [ 57 [ 5 f w= ] sreray

Sunlight is made up of seven colours. To prove this idea by Newton,
explain the recombination of the spectrum of white light by
drawing a ray diagram. 1+2=3

T ¢ Fren qeecd oS | MR A% 4RAmhl e FREAlE 0
AR+ A 2P ol R FR T =)

St e A wge e | WEhm oY, MRl o TR W A WA
iR ey T R e S T A

TAA "N AAE et ) et 2 aeatd Sem e 19
A ) St T aE i |

celeabenni: cRaikfon Bk e lenk el R re e A E ek C ol L ok
¥ TrzA F e i B s g e A

28. What is solar cell panel? What are the advantages associated with
solar cells? 1+2=3

G I =T 197 O e e Ry B R o

CTR P 7% F17 TR 5 TR2eam Ryez §1 90
TER e Seen M7 TR B FeEAEE RS SEE = w7
HR #e Y 87 H FE & raEn @ glivad wn-wm E
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29. (a) Define malleability.

HTq WresTEame e e |
HTT7 TEAEAEEE HeE e |
il gErET e €|
s 1 ity fEfEe)

What is allotrope? Write the two allotropes of carbon.

Tl 37 T e R A B

e B 7 TR v TEH-Ga T e |
e W7 FEAE e A o

e 1 27 Fa % @ wreR o A )

o)

Explain amphoteric oxides with examples.

Lo O TeyT SHEE I A

TamariE ST SHYS T T |

e gy uRmR sEeef Sy gl

Sy wifFEEe! 61 IeTe Afea A FNT)
Or | &7/ 5o/ var/ sean

(e)

Which gas is produced when dilute hydrochloric acid is added
to a reactive metal? 1

51 A rge oy 2EE'F R « e a PR o Tt =7
af i qrere Ay SE e FRCE G A0 T =
R T g Y vee e T i T S w1 i g

w AhiiFnTa O ¥ T 9 TeeeaiE v w e -
Ll E i

(a}

B21-GS/31B [ Contd.



( 23 )

(b) Write the chemical equations for the following reactions : 2

o4 [farmarEa A S fe
Sicen fafirmafm armife 5w @ ;
erafs s T s o
e sifuBrnadt & fom Tomate wfe fafa
(i) Reaction of iron with steam

A AreE FHorS WA [

Cob s ke Ro DERET

2 wE 'S g e

W9 o HT TR () i annEE
(i) Reaction of calcium with water

{17 F5 cFetem Rfd

TR R R R

&=t FarEmE R

od % ue v 6 st

(¢) What happens when zinc is added to a solution of iron(II)
sulphate? Write the chemical reaction that takes place. 2

wEEA(ID) Tes wae R ag e & 9 e aabe @ ke
fafimmdr Fran 1

wEEA(ID) et T fire aip fiee 9 wih 2 wielbs zem el
fafdFmit ¢

fomrd! (1) Wit TieemEeTE Eeten mowmE? ambEm
TR e )

frs =1 omm(Il) wcke & from # ER & T T 2 e
T il fafe)
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90. fa) Menlon two properises of carben whoch lead to the huge
1

number of earbon compounds
e e 8T e e wEn TS O T, oy w3 TR SEY TR

mﬁﬁmﬁﬁ:mﬁﬂwfqﬁ+:ﬁdﬁmﬂ|
!mﬁm:ﬁmﬂﬁmwm#ﬂmﬂﬁum
WA =y

T = ﬁ:mmﬁib-ﬂf,ﬁﬁmﬂ'ﬁwmﬁﬂﬁmm

BR
&

v B

Wrte the reaction when ethanol is heated with alkaline
KMnO, solution. Name the product of this reaction. 2
Yems Wit KMnO,2 DrE Tan s = oo R

e | &Y g T ST TR
veraers Wi KMnO,-&% >% Tag 7% Arhe 260 feferas

o 1 £ T firoeTe andliz SR O
e mrdarh KMnO, 9 ggamm wwfem freemamd fao 3

fararrerefa famramn gavh fom
veta W @rfis KMnO, Gy & wa m w @ AR aveh sl

firfrgn | ¥ ssfufyn &z ) Am fafam)

fe) Draw the eloctron dot structures of the following : 2
ware foyreree Yroda fov s E%E]
Grmrs oom wreda faw ars e %@
merare waeeda taegE Tw e s
fam A yawla foxg wraard fafin difa .
(i) Propanol (i1) Propyne
"o LRI
Conia" a2
bR ICE oA
| Contd.
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Or | 37| W | qar | a7

fal What are unsaturated carbon compounds? I

TS IS A fa
=T 78 (Mns® o
WA FES wrEm ar?
NETR Fa afiew wn A7

(@) A mixture of oxygen and ethyne is burnt for welding of iron
Explain why a mixture of ethyne and nir is not used

L

T w1 W TS (welding) wiHcEq WA IS W= sm w0
A WS I I arema s s, awom

T CHTE (RO WU (wolding) wfRow g Bl via e w0
WA A AY (S AT ) T S, AT |

wfftrm s yarfa o' wrer FER aem T w pee
i A = g aE s

w2 % afFEn % fom wbwivm aan g % foom W 2ea Fem w2
= ifam B wd g o A fam w0 owim A P e 2

(e}  Write the structures of the two structural isomera for butane
and give their names,

2

RS = Sarn® 25 o 1w Brsea g foeg
FETm wmrre i gftn 409 g vt T ove |
ﬁmﬁmmﬂﬁﬁﬁﬁﬁﬁmHﬁiﬁﬂﬁﬁﬁms

A F A WEARTE FREAA 0 WA a1 218 e
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require food? In what form and where do the

31. Why do orgamsms
ltimately in our body?

fvod Fubstances that we consume gol slored u
What are the different ways in whach glocose 13 sxidized 1o provide

energy 1IN YAmous erpaniEme 1414+1443=3

#mmfu:ﬂﬂ:-ﬁﬁﬁwﬂﬂ?ﬂﬁﬁ?ﬂﬂ

R WA 3R Vel T T ER S ez =l T Frmr B R
e e ST e g e A WO
ez YR TUSS (3= N7 TWRISR N EEET w0
waer T g @MW TR sfwrz =g 7 = 9= GFERE = BfEE
ﬁmm‘&:&&r‘wﬁmw:}#ﬁ?ﬁ:ﬂﬁ1
ety sreeTs TR T T T AT TR FEaTETEE 0 5
v o Thefs wee wm SR Wi e T e PR | o T
153 ST g wR A Y
Hi 51 viga = A 27 o o o U aEd ar=ra. wamt T1in B FE F
ﬁmhmmﬂﬂnﬁﬂﬁmi?tﬁiﬂiﬁﬂhﬁmﬁﬁmﬁﬁﬂm
%22 % hm o wn 7

Or [ =t | e/ gar/ sraat
Draw a neat labelled diagram of a longitudinal section of the
human heart and show the course of blood flows through it with
arrow marks, and describe the course of blood flow very briefly.
Siate the importance of the valves present in between the auricles

and ventricles. 2+2+1=5
W wefrer &0 oy fifzre D Wt W S 9 o T W
qrece st 0 16 2aA i orjeq WE 1T 2D fi afb B9 @A

foq | = o SvRR TTeR LI Sy AE T4

sz mefron oal ot i e W H o e o e e

am forg wefize wem 7% iz wfeg (s AL AT ANEA S
gafh fme frme me | wiaw am e O auhoim aFy TF FA |
apffa fgf s i e amn s A anfa 3wl # fisi 4t
i wieamm & eewfa foh f2f ) & e forf AT TER w9

mﬂmﬁ:nﬁtﬂmmm@mmﬁmﬁﬂmﬁmmﬁﬁ#
mﬁmmtmmﬁqmé@imﬁmﬁ:mmmﬁﬁ%ﬂﬁaﬁﬂ
ﬂmiaﬂfﬂﬁmﬁmiﬁm&ﬁaﬁmmmﬁiﬁ:ﬁm
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32. A convex mirror used for rear view of a car has a radius of
curvature of 2 metre [f 5 truck is [ocated af 15 metre from thus
mirror, find the position, nature and size of the imags 5
ﬁﬂ“’mﬁ"f‘ﬂ*ﬁﬂhﬂm irs ol 1 100 vy e
lﬁﬁﬁ"ﬂ‘f{ﬁﬂm?’ﬁam:ﬁf‘mﬁ. w38 e WAt Sy W
ﬁﬁmﬁ?ﬁmmmﬂmﬁwﬁzﬁﬂ'w e (0

15 5 0% w1 o7l G ofefion v, 03 em war S mnn
AT I TEm D R ow'rerm s f s wec s
H‘Eﬁﬁﬂiﬁmlﬁiﬁﬁaﬁmﬁrﬂmﬁrm 15 B mrres e
EHTT A I HEAA R, g s ety e S

o A A S g 3t ¥ B g i oma ges o ) e e
Erﬂaﬁlﬂﬁtﬁﬁmﬁﬂﬁmﬁarﬁr{ﬂm#,ﬂﬁ%ﬂﬁﬁh&_
wFh T v (wmw) I i)

Or | 50831/ wwar/ war/ s

We wish to obtain an crect image of an object using a concave
mirror of focal length 20 em. What should be the range of distance

of the object from the mirror? What is the nature of the image” ls

the image larger or smaller than the object? Draw a ray diagram to
show the image formation. 5
20 cm TR TN CSA AN @ AT w4 Wi weiey O G
o2 om Refcs) | o o g e oo favm e 30
¥ o e 20 ofeficht sarrgete sisq o e 0 w2 e
a2 == 7

20 em CFREPT D0 9l e ol e a0d W al wwnrgr v
AT ons o vl owe wwen gm ofen e sem R0
AeFrm a9fe B w72 2RAMW wwe® e 7 2w o 2 il < I
ofefay o o= =f o == o

20 mﬁmq{:iﬁmmﬁmmmmnﬁﬂrﬁwmtﬁm
nﬁﬁﬁmmilﬁﬂ‘ﬁlmﬁ{hmﬁm{ﬂngﬁ}mmm?
Eﬁﬁﬂ?ﬁﬂﬁmi?ﬂﬁﬁm.ﬁﬂﬂmﬁmm?mfﬁrﬁtﬁﬁiﬁt
T T OF P i =
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